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Hours Worked, i Gross Pay, P
() h ~ \‘ ) \/\,
-~
1 12 - .
2 24
3 36
4

Pho) = 1202

. 9‘!—40

60

Let's write ction notation
P(h) =12h
What is the pe \y after 20 hours?

P(20) = 12(20)
P(20) = $240



November 03, 2016

: ”})WJ“ 0
The equation V=-0.08d + 50 represents
the volume, V 1itéf3; ol gas remaining in
a vehicle's tank after travelling d
kilometers. The tank is not filled until it
is empty.

a) Describe the function.
Write the equation in function notation.

B o
b) Determine the value of V{(600). t\J (ém) ~ - 005‘(@00)4’ =

What duea this number represent? - Y4 r S0
QL left (n ton |~ g

- o~
c) DE‘I’BI’I]]I@E‘ tﬁxal@@dl{? en Vid) = 26.

What does this number represent?

y@—,/ D.0%d +50
,5_0 _ 0. 0{1

0%d
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The equation C = 25n + 1000 represents the cost, C dollars,
for a feast following an Arctic sports competition, where # is

the number of people attending.

a) Describe the function. C (ﬂ ’: Q\SH‘,’ lm
Write the equation in functiomaotatian

b) Determine the value of C( I,QID‘.I. C( (DD)/;

What does this number represent? - RO
¢) Determine the value of n when C(n) = 5000.

What does this number represent? 50bD= 45Nt U@
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f(x)=7x-1 g(x)=3(x—1)

h(x) = 2x”> —1

b) h(-2) =&
= B ‘ — _ - o )
jC(S) 7@} h{.;z):aéa?‘
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f(x)=Tx—-1g(x)=3(x—-1)

h(x) = 2x* 1

¢) g@3) "—-3(5/' d) h(f(1))

30 fo-1()"
:(p :7/l
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f(x)=7x—-1g(x)=3(x—-1)

o hDHG) ) 1011
)= ) W
=71 _7 - QO o

g
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